Pre Calc  6-2 Word Problem Practice WS
Answers:


	1. What is each student’s final grade? 

[image: Matrix Multiplication of Grades]
Alexandra has a 90, Megan has a 77, and Brittney has an 87


	2. 
[image: Cashew Problem Matrix]

The entire matrix is the answer. 

	[bookmark: _GoBack]3. Holly- system B,  Joelle- system A, Luisa- system A

	4. Dealer 1 made $37,200 which is $350 more than Dealer 2 which only made $36,850. 
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Matrix Multiplication
_ Think of turning the first matrix to the right and sideways,
m multiplying each number by the numbers in the second
v matrix, and then adding them together.
921008980 ) 90 For example,
72858035 |x| B[ 77| | (92x.4)+(100%.15)+(89x.25)+ (s0x.2) =005
88 78 85 99 87 (72x.4)+(85x.15) +(80x.25) + (75x.2) = 76.55
(88x.4)+(78x.15) +(85%.25) +(92.2) =86.55
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